D www.alliedboltinc.com

P: 516-512-7600 F: 516-512-761
Wall Anchor TELECOMMUNICATION Hardware Catalog December 22, 2024

uty for Sheetrock

ANCHOR WALL SCREW

B ANCHOR WALL SCREW
PART# DESCRIPTION PKG CTN  CTN

QTY QTY WT.

302 1/8" X 1" B 1 ANCHOR WALL SCREW 8 100 8
90 1/8" X 1" B 1 ANCHOR WALL SCREW 100 16 15
300 1/8" X 1-1/2" B 4 ANCHOR WALL SCREW 8 100 11
3000 1/8" X 1-1/2" B 4 ANCHOR WALL SCREW 100 16 22
301 1/8" X 2" B 6 ANCHOR WALL SCREW 8 100 15
3010 1/8" X 2" B 6 ANCHOR WALL SCREW 100 8 14

305 1/8" X 2-1/2" B 8 ANCHOR WALL SCREW 8 50 9
303 3/16" X 2-1/4" B 10 ANCHOR WALL SCREW 8 50 15
3030 3/16" X 2-1/4" B 10 ANCHOR WALL SCREW 100 4 16

www.alliedboltinc.com
|
Copyright © 2024 Allied Bolt Products, LLC. All rights reserved lofl



